

ROWAYE OLUKABUKUNMI IFEDAMIOLA
19/SCI17/007

$$1) \frac{3x-1}{(x-1)(x-2)(x-3)}$$

$$(x-1)(x-2)(x-3)$$

Solution:

$$\frac{3x-1}{(x-1)(x-2)(x-3)} = \frac{A}{(x-1)} + \frac{B}{x-2} + \frac{C}{(x-3)}$$

Multiply through by $(x-1)(x-2)(x-3)$

$$3x-1 = (x-2)(x-3)A + (x-1)(x-3)B + (x-1)(x-2)C$$

$$3x-1 = Ax^2 - 5Ax + 6A + Bx^2 - ABx + 3B + Cx^2 - 3Cx + 2C$$

$$3x-1 = Ax^2 + Bx^2 + Cx^2 - 5Ax - ABx - 3Cx + 6A + 3B + 2C$$

$$3x-1 = (A+B+C)x^2 + (-5A-AB-3C)x + (6A+3B+2C)$$

$$-1 = 6A + 3B + 2C \quad (1)$$

$$3 = -5A - AB - 3C \quad (2)$$

$$0 = A + B + C \quad (3)$$

Sub eqn (3) into (2) $A = -B - C$ (4)

Sub eqn (4) into eqn (1) $A(x)$

$$6(-B-C) + 3B + 2C = -1$$

$$-5(-B-C) - AB - 3C = 3$$

$$-3B - 4C = -1 \quad (5)$$

$$B + 2C = 3 \quad (6)$$

$$B = 3 - 2C$$

Subst B into eqn 5

$$-3(3 - 2C) - 4C = -1$$

$$-9 + 6C - 4C = -1$$

$$-9 + 2c = -1$$

$$c = 4$$

sub c in eqn (6)

$$B + 2(4) = 3$$

$$B = 3 - 8$$

$$B = -5$$

sub B and c into eqn (6)

$$6A + 3B + 2C = -1$$

$$6A + 3(-5) + 2(4) = -1$$

$$6A - 15 + 8 = -1$$

$$6A - 7 = -1$$

$$6A = 6$$

$$A = 1$$

$$(A, B, C) = (1, -5, 4)$$

$$\frac{3x-1}{(x-1)(x-2)(x-3)} = \frac{1}{x-1} - \frac{5}{x-2} + \frac{1}{x-3}$$

$$\frac{3x-1}{(x-1)(x-2)(x-3)}$$

$$\int \frac{3x-1}{(x-1)(x-2)(x-3)} dx = \int \frac{1}{x-1} dx - 5 \int \frac{1}{x-2} dx + \int \frac{1}{x-3} dx$$

$$= \ln|x-1| - 5 \ln|x-2| + \ln|x-3| + C$$

$$= \ln|x-1| - 5 \ln|x-2| + \ln|x-3| + C$$

$$2) \frac{(x^2+x+1)}{(x+2)(x^2+1)} dx$$

Solution

$$\frac{x^2+x+1}{(x+2)(x^2+1)} = \frac{A}{x+2} + \frac{B+C}{x^2+1}$$

$$\frac{x^2+x+1}{(x+2)(x^2+1)} = \frac{A}{x+2} + \frac{B+C}{x^2+1}$$

$$x^2+x+1 = (x^2+1)A + (x+2)(B+C)$$

$$x^2+x+1 = Ax^2 + A + Bx^2 + Cx + 2B + 2C$$

$$x^2+x+1 = (A+B)x^2 + Cx + (A+2B+2C)$$

$$1 = A + 2B$$

$$1 = C + 2B$$

$$1 = A + B$$

$$(A, B, C) = \left(\frac{3}{5}, \frac{2}{5}, \frac{1}{5}\right)$$

$$\frac{x^2+x+1}{(x+2)(x^2+1)} = \frac{A}{x+2} + \frac{Bx+C}{x^2+1}$$

$$= \frac{3}{5(x+2)} + \frac{2x+1}{5(x^2+1)}$$

$$= \frac{3}{5} \int \frac{1}{x+2} dx + \frac{2x+1}{5} \int \frac{1}{x^2+1} dx$$

$$= \frac{3}{5} \ln|x+2| + \frac{1}{5} \ln|x^2+1| + C$$

$$= \frac{3}{5} \ln|x+2| + \frac{1}{5} \ln|x^2+1| + C$$

$$= \frac{3}{5} \ln|x+2| + \frac{1}{5} \ln|x^2+1| + C$$

$$= \frac{3}{5} \ln|x+2| + \frac{1}{5} \ln|x^2+1| + C$$

$$= \frac{3}{5} \ln|x+2| + \frac{1}{5} \ln|x^2+1| + C$$

$$= \frac{3}{5} \ln|x+2| + \frac{1}{5} \ln|x^2+1| + C$$

$$= \frac{3}{5} \ln|x+2| + \frac{1}{5} \ln|x^2+1| + C$$

$$= \frac{3}{5} \ln|x+2| + \frac{1}{5} \ln|x^2+1| + C$$

$$= \frac{3}{5} \ln|x+2| + \frac{1}{5} \ln|x^2+1| + C$$

$$= \frac{3}{5} \ln|x+2| + \frac{1}{5} \ln|x^2+1| + C$$

$$= \frac{3}{5} \ln|x+2| + \frac{1}{5} \ln|x^2+1| + C$$

$$= \frac{3}{5} \ln|x+2| + \frac{1}{5} \ln|x^2+1| + C$$

$$= \frac{3}{5} \ln|x+2| + \frac{1}{5} \ln|x^2+1| + C$$

$$3. \frac{x^2+1}{(x-3)(x-2)^2} dx$$

$$(x-3)(x-2)^2$$

solution:

$$\frac{x^2+1}{(x-3)(x-2)^2} = \frac{A}{(x-3)} + \frac{B}{(x-2)} + \frac{C}{(x-2)^2}$$

$$x^2+1 = (x-2)^2 A + (x-3)(x-2) B + (x-3) C$$

$$x^2+1 = Ax^2 - 4Ax + 4A + Bx^2 - 5Bx + 6B + Cx - 3C$$

$$x^2+1 = Ax^2 + Bx^2 - 4Ax - 5Bx + Cx + 4A + 6B - 3C$$

$$x^2+1 = (A+B)x^2 + (-4A-5B+C)x + (4A+6B-3C)$$

$$1 = 4A + 6B - 3C$$

$$0 = -4A - 5B + C$$

$$1 = A + B$$

$$(A, B, C) = (10, -9, -5)$$

$$\frac{x^2+1}{(x-3)(x-2)^2} = \frac{10}{x-3} - \frac{9}{x-2} - \frac{5}{(x-2)^2}$$

$$(x-3)(x-2)^2 \quad (x-3) \quad (x-2) \quad (x-2)^2$$

$$: \int \frac{10}{x-3} dx - \int \frac{9}{x-2} dx - \int \frac{5}{(x-2)^2} dx$$

$$= 10 \ln|x-3| - 9 \ln|x-2| + \frac{5}{x-2}$$

$$= 10 \ln|x-3| - 9 \ln|x-2| + \frac{5}{x-2} dx$$

$$4) \frac{(x^3+x^2+xc+1)}{x-1} dx$$

$$x-1$$

solution:

$$\frac{x^3}{x-1} + \frac{x^2}{x-1} + \frac{xc}{x-1} + \frac{1}{x-1} dx$$

$$\int \frac{x^3}{x-1} dx + \int \frac{x^2}{x-1} dx + \int \frac{x}{x-1} dx + \int \frac{1}{x-1} dx$$

$$\frac{2x^3 + 3x^2 + 6x - 11}{6} + \ln|x-1| + \frac{x^2}{2} + x + \ln|x-1|$$

$$+ \ln|x-1| + \ln|x-1| + \ln|x-1| + C$$

$$= \frac{2x^3 + 3x^2 + 6x - 11}{6} + 4 \ln|x-1| + C$$